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z1 Answ"er for a Question, irrespective of seotion shalt be awarded
,grade .A {4}, B(S), C{Z), D{.{ } ot, E {8}.

SECTIOhI- A

Answer all questions. weightage for a bunch of four questions is 
.t.

l. 1i Computer Memory

a) Perforrns all calculafions b) FNeceives lnput data
c) ls extremely limited d) ls betterthan human memory

2) ROffi is composed of :

a) fuiagrietic eores b) $viicroprocessors

c) Photoelectnic eells d) Floppy disks

3) ln vlffiual storage, program segments stored on disk during processing are
called :

a) Sections b) Far.titions c) pages d) Sectors

4) lt loses its stored information in a very short span of time though conrputer is
under working.

a) PHGM b) SffiAto/t c) DRAM d) EPRCM 
*.r.*.
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l!. 5) XGA Monitor (Extended Graphics Array) pixels range is

a) 640 x 480 b) 640 x 800 c) 1A24 x 768 d) 768 x 64r

6) 1 Tera Byte (1 TB) is equivalent to

a) 230 b) 2ss c) Z4a d) 2+s

7) Equivalent Hexadecimalfraction is of decimalequivalent (A9.328)ro = ( ? )rc

a) 162.1972 b\ 165.1972 c) 167.1972 d) 169.1972

8) (101 100.101 1 1 1 1), to hexadecimal is

a) (2A.BE),. b) (2B.BE),6 c) (2C.BE),. d) (2D.BE)1
(2ro

SECTION _ B

Answer any 5 questions. Weightage 1 each :

9) What are the significant features 2's compliment ?

10) Define an instruction. What are different instruction formats ?

11) What are the functions of DMA ?

12) Compare and contrast RISC and CISC.

13) List out the properties of virtual memory.

14) Distinguish between Associate fi/emory and Auxiliary Memory.

15) What is meant by Cache Memory ?

16) What are the nrodes of transfer ? (5,

SECTION - C

Answer arny 5 questions. Weightage 2 each :

17) What is BCD ? Discuss the 8421 code and invalid codes"

18) Explain with suitable example fixed point representation.

19) l-low do you handle multiple interrupts ?

s' -J
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What are the problerns facing, when implementing pipelining ? Briefly explain.
68 x 640- '', Mention propefties of peripheraldevices.

r Explaln the key characteristics of Memory Systems.
45

r How l/O Bus and interface modules are connected ?

; = ( ? )1s r Dlscuss the different types of micro instructions. (5x2=I0)

69.1972 : '

SECTION _ D

2D.BE)16swer any or'!e question. Weightage 4 :

(2x11 y61h neat diagram discuss the properties, functions and uses of components of
Digital Computer.

t With suitable exarmple explain Various Addressing Modes of 8086. (Xx4=4)

(5x1,


